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Q 1. 3N ITH I = & 2

(A) 3Tq¥a B)dfEm ()W (D) FHHFR T
Q 2. $AT T AT 158 & 2

(A) Shfier (B) T9HIA (C) T (D) e

Q 3. TSHAR 1 &g fwg 7 2

(A) =S FH TR (B) =T 3R HER (C)MEWHAR (D) TS WHAN

Q 4. T@iferd 31ee T Tt e Ty ? « Fg S A el 27
(A) EH (B) 31X (C) Feeht (D) &d
Q 5. F=feifaa o «fie” o1 warfaaT=t 7€ © 2

(A) I (B) el ©) ¥ (D)FRW

Q 6. T I el BT HETaR T 37 8 2
(A) ITET T BT (B) AR  (C) MMufogms@amn (D) ®is el
Q 7. Hfeq wfedf HieT ST H FeiER & 2

(A) Fh (B) 7 (C) 39Hr (D) 319
Q 8. ST el GBIl o Q1Y <l 8, 3H Ueh I1ee H e © ?
(A) 39 (B) =TI (C) fosTadt (D) 3=

Q9. Raa ¥ Tt ot o1 forer ot & it 9
(A) TRINTST (B) ST (C) Torsrmm (D) TR TehITST
Q 10. HfaT & 31=oe 351 | fore Ry ST o 2 2

(A) T T TSI (B) STaqH TR ohl TSTHTHT
(C) TR T T (D) &<t o forarma o foru e
Q.11 Thedoctor  an operation.
(A). Do (B) performed (C) is performed. (D) done
Q 12. She should be ashamed ~~ her actions.

(A) by. (B) at. (C) of. (D) in
Q.13 Now adays, she  her drawing board to school .

(A) Carried. (B) carries. (C) take. (D) taken



Q.14 Select the opposite of the given words: keen.

(A) Dull. (B) Rogue. (C) Ardent (D) Shrewd
Q- 15 Select the synonym of the word GARNISH.
(A) Point. (B) Garner. (C) Adorn. (D) Abuse
Q.16 Commencement of word with the same letter

(A) Pun (B) Alliteration. (C) Transferred epithet (D) None

Q.17 Identify the meaning of the idioms “Miss the boat”

(A) too much time go by to complete task

(B) Long for something that you don’t have
(C) Miss out an opportunity
(D) Not know the different between right and wrong

Q.18 Select the option showing correctly change from. active to passive — you should do some

exercise .
(A) Some exercise must be done. (B) some exercise should be done by you.
(C) some exercise had to be done. (D) some exercise shall be done.

Q 19 Select the Correct indirect form of - He says “l am going to agra”
(A) He says that he is going to Agra. (B) says that I was going to Agra.
(C)He says that he were gone to Agra. (D)He says that he is went to Agra.
Q.20 The correctly spelt word is .
(A)affidavit ( B) aphidavit C) effidavit. (D) affidaphit
Q 21 et o ek &Y T ahis (T3 SATHR 21 BT & ik SEhT Ush T3 ST BiaT 2
et o 39 &Y %I U ST & |
(A) fspee (B) fudt &1 ae (C)FEAEA (D) FIS =l

Q 22.fFfafga # & fordt veel oot 9 T AT ST Heha 82

(A T (B) wrt (C) STsta (D) AR
Q 23 [& TaT ol TRCATT o SR Fefarfad o & & 91 38 e 82
(A) TH (B) URT (C) ARRA (D) I aft

Q 24 32 st @it fore < off?
(A) TS (B) TSt (C) g (D) Meseiq



Q 25 Tt ¢ § ek A Ueh firerent 33T 2, S 38k N2 I STt 81 30 e ol 3@t
3T 2 <l TIf o SR T T e Hohd 87
(A) T (B) Tied (C) ia= yefiat & arer (D) 13 &t
Q 26. T e 3 EoT ht 7T T 3T
(A) ms  (B)kem/s (C) kg.m/s 2 (D)Nm 2 /kg 2
Q 27. ST i3 e Tad &9 § qeall hi 3R e 2, A 36ehl e ol -
(A) TR (B) gt &
(C) T8 el & bt Hret @ (D) feer weft 2
Q 28 ATIHN S UL, §aT § &t ot Tfar:
(A) Tt B (B)TESI?  (C)Tdisderdt (D) Ued ogdt & i Rem gr it &
Q 29.%% TT UM T SRR Hoa T0d 3 ST Tkl 2l TH 3T T -1 T
QA & <1 =R o o —
(A) STEq Isit & w15 & I IgT e & (B)sHTIG o ek &
(C)ehTed & ST carel TT T ohid & (D)Fecaqul hig T8l &
Q 30 I IATATEROT H T STFHTHATES shl TTHT og STl 2 af F=ferlRad & & sl wetfera 12 g
(A Y101 ST ST TTHT Sl 77T (B) Tl T TeRTeT Gt hY Iisha
(OXSIESEIE U (D) YR dert =t STfdea

Q31.6x2 + 11x+3 HHEE 2

(A)(B3x+1)(2x +3) B)x+1)(2x+3)
O)x+3)2x+1) (D) Bx+3)(x+1)

Q 32.15g (0, 4) Rera 2 |

(A)IET H B)x-FHW  (C)y-IFW (D) Iqd IquT

Q 33. TR x-2y = 4 T TUTIH 2

(A) (0,2) (B) (2,0) (©) (4,0) (D) (1,1)

Q34.TH3EH fommd 2t 2

(A) TH B)ar (©) (D) ¥



Q 35.ABC U& Hf5ag et 2 fore srre somatl AC 3R AB T 5AT:
yieis BE 3R CF ©ie e §) fie:

(A) BE > CF (B) BE < CF (C) BE=CF (D) STk  § IS &

Q 36. T AT & Fehdll o
(A) FHIT T (B). gufsrm (C) T (D) =

Q 37.3f¢ ABCD T GWidt =T 8, AE L DC 3R CF L ADI3fe AB = 10 &,
AE = 6 94t 3 CF = 5 9T, 91 AD SRIe 2:
(A) 10 T (B) 6 At (C) 12 Tt (D). 15 ot

Q 38. 3T/ o ATE G AN IV &

(A) 90 (B) 45 (C) 180 (D) 60
Q 39 BH T IS ST =ITed &, Foreeht afifer €1 18 2, @ g6 a8 ST ol STrawreha &
(A) T[T 3BT a1 STt <t 2 (B) Brgst oAl &1 o[l o sftr ot 3t
(C) T TR v (D) & AT 0
Q 40. T st 3hT ST 3:5:7 o T H & ST FEEHT THHTT 300 Tt 21 SHHT & SATT:
(A) 1000V/3 =t eft (B) 15003 =t &eft
(C) 1700V/3 =t eft (D) 19003 3t &eft

Q. 41 SHIEHHT 31se T T & foeem T § |

(A) i, (B) ST, (C) afat RIS
Q. 42 & FrTE Feferiaa # 4 forer awr & urg STt @ 2

(A) I HIET (B) R (C) & (D) AUt

Q. 43 I fore T & YSTIds war e @ 5w gedes safth wim dar ?
(A) TS ST (B) IR (C) T A (D) Tha ATEhT
Q. 44 580 ST JorTeft & ST T TS ST ERT foRa STTaT 2 39 et ST e |

(A) IfEATIH (B) TS (C) WlhdA (D) Fedd o
Q. 45 Alshdd o fou f7 § & fore et 1 17 A 2 2
(A) T AT JoTTedt (B) T el ot <

(C) AfTAfHa = (D) I8 W G =0T



Q. 46 T7F1 1§ foher <91 7 orreahs HATTRIshR werel et TR fofart Trarm 2
(A) Fie (B) oSl (C) =Siiete (D) STufEt

Q. 47 = H e ITehTeT TS ?

(A) 1980-82 30 (B) 1949-51 %o (C) 1941-43 3o (D) 1958-61 30

Q. 48 =1 T & formr <31 T Uah gl WOTTeAT <Rt eltend s AT ST © 2
(A) UTfRE (B) WA (C) Ut (D) ==

Q. 49 T=d Al o AW | T 9T | -

(A) T (B) Affera AmTien (C) STSATRY (D) W |t
Q.50 SR = 1 & forer fagia ux emenfa@ @ 2

(A) ST TATRIGHR ( B) ST QAT Sgeel

(C) T TG T I (D) Ik Tt
Q- 51 % @l -

(A) TSTEIH § e ot (B) 3 (C) TETE (D) o

Q- 52 VR T HaTdl T <=M &

(A)97°25°E (B) 68°7’E (C) 77°6’E (D) 82°30°E
Q- 53 T for U w1 & B orereht wifer €T e o wmer e ST €, <97 3R e R
(A) e (B) aTfSIfeREaTe (C) TiTeATesT (D) JUTA
Q- 54 WA T Toha Tsar 31 g, T JewT & 2
(A) T | 26 TST 3T 7 g, I T2 2 |
(B) YRA T 25 T 3 7 g Mo TS |
(C) 9T | 28 T 3 7 g IfHd Tew & |
(D) 9RA | 28 T<F 37 8 hg MHT TN & |
Q- 55 I T AT WA T I & sRIsR Wt 8 fererfrer et 29
(A) HET T (B) ek T (C) TRt 1@ (D) S8 ¥ IE et
Q- 56 ST i 3fE T YN T forg A dH-AT T & 2

(A) 81 T (B) 7ai T (C) 63T &I (D) T8 T
Q- 57 I T ST AR shl F& A o Har Feruft fofg W gt Tsiealm 22
(A) 8°4'TT (B) 37°6°TH (C) 8°4’Td (D) 82°30 3




Q- 58 WRATY &1 § Helfaa adi ol FHfoTiad & § i 1 g 3T GrR H fEord 82
(A) FSHM 3R Hehlam gia we (B) ofiddmt  (C) eagi™ (D) ATeTE
Q- 59 WA I AT HeATE (@, 82°30 E, FrAfatiad o & forg T @ St ot @ 2

(A) ST H FHATHAR] (B) STRUTTIS JeTT | ST
(C) TSI | %o (D) I a1 H fisiq

Q- 60 TeAfcTRad o & fore v <ht I & gt 7000 forrft s she 1 22
(A) W& & (B) UHTHT T&X (C) e mieft 7w EIEREERS
Q 61. 5o T Tg, o I o1 ikl § SHEA, bl ST -

(A) %18 (B) 3itfegan (C) fsrewr (D) &8 S 337 A 9 |
Q 62. ST T He Aferes difed i 9 2

(A) FEdt (B) 31 31 (C) =&t (D) foreeht

Q 63 WA H Aol &efeh ohl il § Tored™ g1

(A) 1820 % <31 | (B) 1830 & €31k 1§

(C) 1850 % 39k & (D) 1860 3 a7k &

Q 64. YR H 'ZHTHE' I15G i T HgT STAT AT ?

(A) Brenivfig (B) =Ie=hivig (C) Ivfg (D) YR
Q 65. TUW forg T <l HeheTaT eIk TSI el fofaT 71T o7 2
(A) 1972 (B) 1973 (V) 1974 (D) 1975

Q 66. TAH {14 g T &HY T |

(A) 1911-1914 %o (B) 1914-1918 S0

(C) 1918-1921 30 (D) 1920-1925 %o

Q 67. TSI T Te o<t ure off |

(A) 1920" (B) 1925 1 (C) 1926 4 (D) 1932/

Q 68. St Tigerel 4 1R it wit i

(A) TAEH A & g (B) farermras & fere fatfera a9 & fore

(C) TSR I BT o oIy (D) IUWIE |t




Q 69. IS o Tor IR 26T TafshaT H Taexll AR TIH 3T 2

(A) 1905 T STTeT T forars= (B) 1907 H §Xd 1 for1s
(C) 1914 1 YoI¥ forg F5 shl JoATT (D) 1919 % HIT-AFHHIE IR
Q 70. SIGST FHTST UTET 3t TAToT fordy Y §311?

(A) 1980 %o (B) 1984 3o (C) 1985 30 (D) IS T

Q71. 5:124::7:?

(A) 342 (B) 343 (C) 248 (D) 125
Q 72.afe DA , IF ¥ Gif¥ra , af NK fora gsiferg 22
(A) SP (B) PS (C) PR (D) SR

Q 73. FfeRaT: Te = Tah :2

(A)SId (B) ferctrer (c) T3TH (D) sifeat

Q 74. P T %1 fUar @ T,M %1 Tt & M, K 1 Tt & P %1 K & Hefer &7

(A) TS (B) TR (C) U (D) 374 & S el
Q 75. AfS et WHR T, T & i @1 & 2o

ONREEL (B) AR (C) TR (D) 3TH & H1$ 7
Q 76. 25 ITFZI 2045 T I A1 fa FFmm?

(A) HIFT (B) HTeTIR (C) TeaR (D) THIR

Q 77. fe H Ff&0T 3t T U1 AT BT el L W &, 1 SIdq1sy wt fis foper femmr o &2
(A) gfegor (B) ufsm (C) =& (D) W

Q 78. 2t T Ad F9--eeeev ? ST STTAT Ug T SHITSTT |

(A) 116 (B) K16 (C) G16 (D) H16

Q 79. “+” HI TAAT & “+7, “x” T AT § “-, “+” T AAAT § “x” T

“_“RTATAT R “+” AT 8 + 6 x 4+ 3 - 4 T A B

(A)-12 (B) -44/3 (C) -20/3 (D) 12
Q 80. fordt =nte 99T § BAN &1 DCP forat St 2 @t SDM &l T forai?
(A) EPH (B) BGC (C) UFO (D) DEF



Q. 81. MS-Word STaHe H 78R o =< ST {77 1 =1 T @ 2

(A) TR Tt @) WA Tt (C) ST (D) USH sATH

Q. 82. W H YR HFILT A T THTor fopam

(A) 5o (B) T5TES (C) faeeft (D) 18 Tl

Q. 83. Facebook 3 TEITIe i &7

(A) foret g (B) T Weeh (C) W o (D) IS e

Q. 84. Teforea Fheget i T fordt gl o ametia 82

(A) haet TUHT (B) ot ok (C) SAFTh gfger (D) TUFT 3R ek gHT

Q. 85 “IHald T FFe fohe SRR § Fsiferd 82

(A) FH el et (B) T il et
(C) et diet et (D) $9H ¥ 13 &1
Q 86. 31T T T gRT fohd AUt T8 Treterl snifsa foram mm 2
(A) T (B) SRt (C) forTramrgT™ (D)l T
Q 87. TAferfiaa ® & foper feifer aht forar STt T wiagor foae v ST & 2

(A) 2 (B) 4wl (C) 14 BT’ (D) T8 T 13 el
Q 88. 6 HEaT 2023 i fore 337 H 7.8 e AT T ST o, TST|H ST 5000 AR T JI &1 TS 2
(A) T (B) THf (C) foferecti (D) WA
Q 89. haa HaAT ErarRAvT < fore feifer 1 €6 § T 2023 - 24 T I T FoRAT 2
(A) 1 SR (B) 31 SHal (C) 1 &l (D) 2 B
Q90. 10 & 14 B o it faeAferfiaa o & fore o smifra Tt & @t $fean feex T st st fekam i 2
(A) @ (B) S it (C) =g (D) Trg=RT
Q 91. 3TShIeRT HETEIY o fohet ST o forsteft Hehe o hruT T 31T fesmeet =it foram T 2
(A) Taer (B) HISTifereh (C) afeqoT STShishT (D) ¥S™

Q 92. TTAT T T ST TIL AT 2023 hai AT fomam 7 2

(A) 3= (B) feresiagtn (C) sigge (D) feram@mag
Q 93. TSI ST HRlcEd “3TfS HRlcda et TSI gt fohaT 1T 2

(A) TATAE (B) IgHET (C) AT (D) feeedt



Q 94. TSI 261 2022 - 23 Fr fomiar dw R 2

(A) ST (B) Helg (C) ST I (D) ERTSE
Q 95. Tore s A Aihiel o oI sieff wliedt W wrierett e o fIQ Uk T e ST 2
(A) ST I (B) TGS (C) HeT JeTT (D) ferer

Q 96. ST I H HTE SATET TaeAT el T ST & 2

(A) HEIEYX (B) SRS (C) Jd1uTe (D)aRIorT

Q 97. 3Nfereian e foreeht Temfa ® 2

(A) FHU (B) ¥4 (C) TRI=S (D) AT
Q 98. ST T ek fohH Tt ol haT AT 2

(A) FrEft (B) 7 (C) TR (D) ST&gA
Q 99. e fFA TN F AT WE ?

(A) (B) T (C) w&ft (D) T

Q 100. 3TH ¥ &l T HW T HAT 78] THIAT 8 ?
(A) TS (B) ATReh (C) Bigr (D) 379 & IS T



